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Article Title: Tobacco use and concurrent engagement in other risk behaviours: a public health challenge for occupational therapists

Multiple Choice Questions
1. Occupational therapists have to intervene on tobacco use because 
a. It is habit outside the scope of occupational therapy practice
b. It is occupational performance that impacts other occupational performance areas
c. There is limited literature on the subject
d. None of the above
2. ______ of the participants that reported to have smoked started using tobacco at 8 years of age or younger
a. 6.8%
b. 4.9%
c. 19.6%
d. 1.5%
3. Tobacco use requires attention because 
a. It is occupation 
b. It has both negative and positive consequences on health and well-being
c. All of the above
d. None of the above
4. Learners that use tobacco are likely to also
a. Consume alcohol, gamble and use illicit drugs
b. Fight 
c. Have multiple sexual partners in last 3 months
d. All of the above
5. The article argues that the most effective intervention for tobacco use is 
a. Intervention that delays the age of initiation
b. Occupation-based intervention
c. Intervention that focuses on multiple behaviours
d. All of the above
6. Tobacco use is a paediatric public health emergency because 
a. Paediatric specialists are good at tobacco control
b. Public health specialises in promotion and prevention kind of interventions
c. Most learners that reported tobacco use started in childhood years
d. Smoking causes tooth decay
7. The one Cluster of behaviours that is the biggest threat to Lesotho’s Vision 2020 is 
a. Cluster three
b. Cluster two
c. Cluster one
d. None of the clusters
8. _____ of the participants had a guardian that smokes
a. 25%
b. 90%
c. 61.7%
d. 71.6%
9. The highest number of behaviours reported to be engaged in concurrently is 
a. 35
b. 21
c. 3
d. 10
10. In Lesotho _______________ smoke
a. More female than male learners 
b. Less female than male learners
c. Both female and male learners equally
d. None of the above

Answers
1. B
2. A
3. C
4. D
5. A
6. C 
7. A
8. D
9. B
10. B 
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